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QUESTION 1

Which of the following are true about the dump database command?(Choose 3) 

A. can write a single database dump across multiple devices B. makes a full backup copy of the database 

C. truncates the transaction log 

D. makes a full backup copy of the transaction log 

E. drops the database because it is no longer necessary 

Correct Answer: ABD 

 

QUESTION 2

How is a deadlock victim determined? 

A. By theusers permission settings 

B. By the largestspid number of the processes involved 

C. By the amount of elapsed time since the task was submitted 

D. By the amount of the CPU time spent on the task 

Correct Answer: D 

 

QUESTION 3

Which of the following are true about using the load database command?(Choose 3) 

A. the database must be at least as large as the size of the database dump 

B. the database must have been created with the for load option 

C. the database must be exactly the same size as the database dump 

D. the database must not be in use 

E. the database need not exist because load database will create the database 

F. thedatabase must not be marked as suspect 

Correct Answer: ADF 

 

QUESTION 4

When sizing additional network memory, how many packets does each connection require? 
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A. 2 

B. 3 

C. 4 

D. 5 

Correct Answer: B 

 

QUESTION 5

The semantic partitioning option allows data to be partitioned based on (Choose 2) 

A. lists of values in a column. 

B. a round-robin basis. 

C. lists of values in multiple columns. 

D. a hashing algorithm. 

Correct Answer: AD 
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